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'Dnectlons (Q. 11-13) Malkthe correct synonym of the glven “ord‘ A
11. - Cantankerous: .~ Lo e s :
< A)irascible .B)affable _'3 e _:C)___k_md__'_ D) callous_
12, Ecumenical: - QRSN E LU
A denommatlonal B) umve1sal i 'C) miserable U .' 'D) loud -
13 _'Dlaphanous R R
S A)ceruel oo B) lazy SR C) delzcate o D) thlck
: Dn ectmns (Q.14- 16) Mark the correct preposntion to be fiiled n the gaps :
'14 Sita could easily see Ramusdemgns N R e o
..__A)at ST Byof - . C)fnom . D)tlnough _
15, Sachin was always 1ntent B scmmgnms TR i
S Ayon o Byof Q) from D) by s
16, Itis difficult to arrive : anydecision_ _ T R
A)on B)at D C)w1th S Dyby
Directions (Q. 17- -20): Malkthe correct antonym of the gwen wor di
17.  Droopy o S T
A) dangling . .- B) loose ST C) upught_ - D) flaccid .
18.  Frowsy ... ... - P APty
A) ostantation B) omament C) gilding D) tidy
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19.

20,
21,

22,

23.

24,

95,
26,

27,

28.

29,

30.

Hedonistic

A) ascetic B) sybaritic C) partial D) paljtisan
Inure . . SRR
A) harden - -B) sensitize C) succeed _ D) dehumamze

Who, of the following, is the youngest awaldee of the Nobel Puze so far:- S
A) Malala Yousafzal B) Ka1lash Satya;thl ) B Shaw D) E1nest Hennngway

The fnst ever Indlan Amencan to be conﬁnned as the next Us Ambassadm to Indla is :
A) Devyanl Khobragade R B) Rlchald Rahul Verma SR
) Rav1 Vauna e _' D) R_lChald Subramamam R

The 1ecently concluded Woxld Cup (Cncket) for the Blmd was held in: .
A) England L B) West lndles L C) Soulh Aﬁlca D) Austlaha .

: :Hav;ng lost 220 Indzan languages 1n the past 50 yeats, the Govemrnent of Ind1a has

+ “decided to: : :
_'A) involve G1a1n Panchayals fm ptesel vation of languages _

B) involve the World Bank for funds for p1eservatlon of languages s

0O mvolve the Asian Development Bank and UNICEF for plesewauon'of languages
D) preserve 520 highly vulnenable languages it has 1dent1ﬁed and take up 70 in the first

phase of the prOJect

' The Sumrmt meetmg between Pume Mmlstei Na;endra Modl and Vladlmu Patln the

: _Russxan Presndent held in Decembe1 2014, pul accent on: : _
‘A) Nuclear enexgy and hydlocalbons B Apgt lcultme and 1nsu1ance seet01s S

_C) Space 1esea1ch and commumcatlons D) POV&ITY allevna‘non pmgrams and hteracy

lndla S surface to a11 nnsslle is:

A) Agni ;'-'_; B Tushul '_ C) Nag : Lk :_ : D) _l?_r_it_hv':i | AN

Identlfy the w;ong pau assocxated wzt]x Indian Cinema:

o A) First full length Tamtl featme ﬁlm Keechak Vadham -.
. B)First Indian film to use the technlque of playback singing — hoog i _
~ ~C) First Indian film to be nonnnated for an Oscar Award — Mughal e—Azan _ SR
' D) First Indlan cmemascope fitm - Kagaz Ae Phooi ' i

In whlch amcie of Indran conststutlon the plocedute f01 adoptlon of Ofﬂc1al Language on

- Languages of state is given ? e R
' -A) Amcle 343 '_ B) Art1cle 344 C) Amelo 346 B ' D) Artlc e 345

'Accmdmg to Amcle 25 of the Const1tut1on nght to Fieedom of Rehglon is not
~ subjected to: - ' .

A) Humamtanamsm B) Public otde; o C) M01al1ty L D) Health
Which of the following zallway track-route connectmg two stattons has been accmded the
status of heritage railway line by UNESCO ? ' :

A) Allahabad and Varanasi =~ ' B) Slhgun and Dar Jeehng
C) Mumbai and Thane - D) Atnutsal and Ludhiana -
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31,
32.

33,
34,
35,
36
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39.

41,

42.

Bandipur National Park is primarily known:

*A) as an Elephant Resetve: -~ "B) as a One Horn Rhinoceros Reserve

Clasa Tlget Resewe L ;' . o D) asa BlOSthiB and ClOCOdlle Resewe

Who is the authot of the famous book “The Rlse and Growth of Economlc Nattonahsm
A) R C Dutt B) Amal tya Sen C) Gmehalan Das D) Bipa_n_Chanc_h'a .

Who was tho first Chief Minister of Jhatkhand stale‘? S

A) Babulal Malandl - B) Shlbu Soren C) Alj jun Munda D) Madhu Koda

The revenue estlmates of the Budget in Ind:a are p;epared by: _ - .

A) The Central Board of Direct Taxes .. B) The Ministry of Finance

_C) The Cabinet Seeretauat D) The Planning Commission -
~'World Consumer R1ghts Day is ceieblated on: . I ) CL S
A)Aprl 18 B) Decembe_t 17 . C) Malch 15 .+ D) September 14

Complete the series;.

Select the pair of wmds from the fom aitemattves that has the same 1elat1onsh1p as
" the given pair has : SRR '
. _Gwenpan—Loyalty Dlsioyalty i
' .A) Accmd Consent B) Dlllgenoe Lazmess C) _Code:'Encode_ D) P_a_in:Jealousy
_ 'Fmd outthedxffetentone ' '_ (RN s
. DOE3 .  i)XD6 . 'iii)JBS --_--';v)vm o -'§)PH3
”A)v) s Biv) Qi) S D)l)
In a cet‘tam code VISHWANATHAN_ ;s wntten as NAAWTHHSNANIV How is
- KARUNAKARANA written in that code .~ R
. A) AKNUARRANKAK . B)KAANRAURNAAK
"C)NKKRANKRAUKA i D)RURNKAAUNAKR

- 40, . Deepak said to Nitin, * That boy playlng football is the youngez of two b;othels of the

~daughter of my father's wife”. How is the boy playmg football telated to Deepak‘7
A) son_ - B) cousin .o C) blothel D) nephew

1) A,B,C, D E and F a1e 6 students 11) B and C are shortet than F but heavier th_an A
- i) D is ‘heavier than B and talle1 than C iv) E is shorter than D but taller than F '

v)Fis heavier thanD : S . vi) A is shorter than Eb but taIle1 than F

“which of the followmg gloups of students is shorter than A’?

A)B,Conly  B)D,B,Conly  OFB,C only - D)E B, Conly

A man walks 1 km towalds east then tmns to south and waiks 5 knl again he turns

“to cast and walks 2 km., aﬁe1 this he tums 10 north and walks 9 km. How fat is he,

now from the starting p01nt‘7 R _ :
A) 3 km, s B){ikm o _ _C)S_km. ' D)’lkm

dgm/f-a(l) Page5 of20




43.

44,

In the Fig. Circle ‘S’ stands for households having a scooter. Circle ‘T’ stands for

_households having a TV set, Circle ‘W’ stands for llouseholds havmg waslnng
o machme and circle ‘C’ stands for households having a car N
: Households havmg nelthel scootm nor car are 1ep1 esented l)y

".T'

: .A) umon of 1eg10n2 13 and 3 B) 1egxon2 | 'C) rteoﬁ 3 - : D) n'c').ne' of tllese

-Select the combmatlon of numbels S0 that the lettels s0 auanged accoxdmgly \Vlll _ "

: _:' form a meaningful woxd . o :

12 3 4 5 6 g

"A)1345672_: B)2645137 '-c347aL625 In7645132.-7

' 45 -"-In the followmg anangement if each alphabet has a value zero, each symbol has a

* value equivalent to the square of the numeral that immediately precedes the symbol or

" the value 1 if it is not immediately pleceded by any numeral, what will be the sum of _

. the values of the first 10 elements of the series starting from left hand‘? R
2% 856B9$Q3E17RD4+(13)U@K(18)A(14)P

'"fx)46 BB o7 :;; 11)118

46.

48

49.

The d:g:ts of the followmg five numbe:s are wutten in 1everse o;der and ﬁve new_ N

“numbers are obtained

513 726 '.492J' o l.865 o '?7149

s -thch of following numbers retains the same position from- the top when auanged in
'descendmg 01de1 even after the posmons of the dlg:ts are IBVEISBd ? -
A) 149 v B) 726 - :.' S C)513 D) 865

'-Whlch two months among the followmg w111 have the same calendal ina yeat‘?

A) June-Octobel B) Apul November C) Apul—July D) OctobeI—Decembel

If ' denotes '+' ‘M’ denotes '-',"'A’ denotes 'X', 'Q' denotes '+, x denotes =Y

denotes ">’ and 'Z denotes '<', which of the foliowmg expression is conrect

S A) 32X8Q2A3Q1A2 B) l4X2A4A2M2Qi C) 2Y§AIQIOIA1 D) 16Y8A3{)1A2M2

Replace the quesnon malk ('7) thh one out of the glven altematwes _' _' o

31 17 58 | 87
68 19 61 56
91 | 22 | 70 | 50
10 | 142 | 11 ?

A)3 B) 6 @7_ D)9
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50.

51.

32

53,

55,

56.

57,

8.

59.

0.943 X 0.943 — 0.943 X 0.057 + 0,057 x 0,057 _
0.943 x 0,943 X 0.943 + 0.057 % 0.057 x 0.057

?

A)032 B)0.88%6 C)11286 _' R ['))_1'
In a class, if one student welghmg 50 kg is added then average welght of the class
increases by -1 kg. If one more student welglnng 50 kg is added, then the average

welght of the class increases by 1.5 kg -over . the ougmal ave1age What is the

original average weight of the cl"tss" : : _
A)2kg. o B)4kg . _' : C)46kg ' D)47kg

15 years hence a man w111 be ]ust 4 tnnes as old as he was 15 yeats ago st plesent

Coageis X .
.A)25 years o B)ZOyeats s C)]S yeats S D)}Oyears. '

A dairy man buys m:lk at Rs 6 40 pet itre. He adds watel and sells the mlxture at Rs. 8

-per litre, theteby makmg a piOﬁt of 37 5% The proportlon of watet to n11lk 1ece1ved by _
s theconsumez is oo e L o :
S '--A)18 S 'B)IIO_'- C)112 D)llS
54,
AR 'deep is dug in a corner and the earth_taken out is splead umfmmly over the 1emam1ng

~ area of plot. The level of plot w:ll be ralsed by e
'_A) 17180m . B)15 Iﬁem C) 18. l9cm e D) 16 17em '

In a 1eetan0ula1 plot of length 20 m and w1dth 14 m,a p1t 6m long 3m w1de and 2 5 m

T he plesent worth of Rs 1690 due two yeals hence at 4% per annum is
A)Rs.1505 B) Rs.1547 - ~O)Rs.I562.50 . D) Rs. 1580

A prograrn is wutten to turn on/off a motm The motm is sw1tehed off once the 1ead1ng

~falls below 15 and then it is turned on when the 1eadmg exceeds more than 30 To test - _:'

 this plogtam 1dentlf§ the Eqmvalence values which belong to the sameclass. -
A) 31,33,36 . - B)34,37,10 C) 14, 18,32 L D) 11,15, 19 N
“You want to ase multlple opetattng system ltke hnu\ wmdows ete concunently on
smgle maclnne The best way to achleve this is: SRR PP

- A) Make machme mult:ple bootable like using GRUB

- B) Use Vntual:zatlon software like VMWaIe

C) It is not possxble S

*.D) None of these - R o e
"lee the output of followmg c" pr'o'_g]-a_,_n; e
#define sum(x) XX R

~ void main()

{ plmtf(“Sum‘%d”, smn(lo)*sumtl 1)),_ ey

“A) 131 B OddL D)21

Suppose a Web server appheatlon genenates messages eonststmg of 100 bytes of data to
be sent. Message gets eneapsulated ina TCP segment and then an IPv4 datag1am There
are no options added in the TCP or P headels What is pelcentage of IP dataglam size

consisting ofapphcat;on data? ... oo RIS F e
A) 83.33% -~ B) 60.66% C) 71 43% L 'D) 6_6_.67%
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60.

6l.

62

What is the correct HTML. for referring to an exiernal style sheet?
A)  <link rel="stylesheet" type= "text/css" href=" ystyle ces"'>
B)  <style src ="mystyle.css">
C)  <external>mystyle, css</external>

'D) <sty1esheet>mystyle css</stylesheet> L

'_'Whlch of the followmg is ‘true iegardrng the Pr udence Puncrple of Accountmg’?
(A) Takmg care of the future losses *(B) Taking care of the future profits e

OT akmg care of bad debts o (D) Taking care of mventm y and deplecntlon
_ Whlch of the followmg 1sanon opelatmg cxpense‘7 SRR I o
U (A) Salary of Managing Director = (B) Deptecratlon S
O Advertrsement expendltme RN (D) Interest on loan i

63,

oo
65,

66.

- .68, e
. (A)Returnofanasset .o (B)Rrskofanasset

- 09,

- 70,

71,

I there is mutual indebtedness between the transferor company and the transferee
-.company in business combination, which of the following is cort ect‘? ' :
2 (A)No adjustment is required in the books of the transferor company
" (B) Adjustment is required in the books of the transferor company.
- (C)No adjustment is required i in the books of the transferee company

() None of the above R

:lmplovement of ploﬁt volume 1at10 can be done by e
- (A) Increasing selling price -~ (B) Altermg sales ml\(ture o
3 _(C) Reducmg varrable cost S (D) Allof the above

Which of the followmg is unsystematrc nsk to a fnm'f‘ o G
(A) Inflation ..o «(B) Surchaige of Income tax =
- (©) Interest Rate O SECIE SN (D) Scarcrty of Raw Mater;al

-Whlch is the beta for atreasu:y stock‘? B LR B ' R
e :_(A) Zero . (B)One ~(C) Greater than one o .-_:.'__(D)_Les_s_than on_e_

L 67 :.

The main objectwe of Accountmg Standards is . ' e : .
(A) To prepare the accounting reports whlch are easﬂy understood by common man _

'__'(B) To comply with the legal formalltles L
“(C) To harmonise the diversified accounting practrces

D) To comply with the 1equnements of the lntematlonai 'Accountmg Standards -

In CAPM B (Beta) factor measunes S

© Life of anasset = o (D) Capltal mvestment ._

“Which one of the followmg is not a money market 1nstrument‘?

(A) Commermal paper. -(B) Participatory certificates (C) Wanants (D) T1 easm y Brlls S

The Secuuttes and Exchange Board of Indla was not entrusted w1th the functton of
(A) Investor Protection, S : S

(B) Ensurrng Fair practrces by compames [

(C) Promotion of efficient services by brokers

D) Implovmg the eammgs of equrty ho!ders

- Under the Walter Model, 1f the rate of return is greater than the cost of capltal
' (A) Price per share does not var y wrth the increase or decrease in d1v1dend pay -out

ratio. . : .
(B) Price per share increases as the dmdend pay—out ratlo increases.’
(C) Price per share increases as the dividend pay-out ratio decreases.
(D) None of the above. :
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72.

73.

74.
5.
R

80

81,

82.

83,

84.

“standard dumt;on‘? :

(A) Characteristic Line -~ :”_.' s (B) Capltal Matket Lme .

(C) Secuuty Market Llne ; o : __(D) N_one _of the ab_o_v_e BT
DU PONT Analysis deals with: = : o

(A) Analysm of Current Assets L (B) Analysm of Proﬁt S

(C) Capital Budgeting, I ()] Ana1y51s of leed Assets

~-and Expenses of Rs. 100 000. What is the Net Profit Rat;o‘? SRR

(A)20% ®)S0% (O 1% (D)40% R
‘Which of the foliowmg does not affect cash flows proposal‘? : SIS

- (A)Salvage Value - T ' (B) Depreciation. Amount
(C) Tax Rate Change AR D) Method of P;olect Flnancmg

'Payment to c1ed1t01s is a mamfestatlon of cash held for: -
*(A) Transactionary Motive . '_ S (B) Pxecauttonaxy Mottve

-Secuuttzation 131e§ated to COHVE:lSlOIl ef i ERRETEE % o
M) Recelvables e (B) Stock (C) Envestments (D) C1ed1t01s =

: 80% of sales of Rs 10,00, 000 of a fnm are on medat It has a Rece:vable Tumover of 8 L
‘What is the Average colleetmn peuod (360 days a year) and Average Debtms of the S

firm? _ .
(A) 45 days and Rs. 1 00 000 s . _ (B) 360 days and Rs 1 00 000
(€) 45 days and Rs. 8,00,000 . L (D) 360 days and Rs. 1, 25,000

(A)Decreasein Sales .~ . . (B) DBCW&SG mDebtcns -. s

“If a company sells its 1ece;vabte to anothen patty to raise funds itisknownas -
(A) Seeuutlzatlon _' (B) Faetonng 5 _(C)_ Pledgmg (D) None of the above

Conservative policy of working capital refers to

i) Sitvation with high investment in current assets

ii) Situation which stimulates sales : Sl

iif) Situation wnth ﬁequent ploduetlon stoppages _ _

Codes: BT o :
(A) iii) is cenect (B) 11) is conect (C) is cmrect : D) i) and ii) are correct

Which of the foliowmg describes the 1elatlonslnp between e:\pected 1ate of return and the

A firm has Capital of Rs. 10 00 000 Sales of Rs. 5,00, 000 Gtoss Ploﬁt of Rs 2 00 000

Which of the followmg is not an element of credit pohcy‘? e SRR
(A) Cledlt F erms . (B) Collectlon Pohcy (C) Cash Dlscount Tetms (D) S_a_les Price

(C) Speculative Motive = (D) All of the above

In response to maiket expectatlens the eted;t peuod has been 1ncxeased ﬁom 45 days to
60 days. This would result i in .

(C) Increase in Bad Debts (D) Incxease in Avetage Collectton Period

Cash Dlseount teun 3/15, net 40 means _' :
(A) 3% Discount if payment in 15 days, otherwise full payment in 40 days _
(B) 15% Discount if payment in 3 days, otherwise full payment | in 40 days o

~(C) 3% Interest if payment made in 40 days and 15% 1nte1est theteaftel Lk

D) None of the above o e :

Break-even of a call option oceurs when spot price is equai fo

(A) Strike Price + Ptemmm (B) Strike Price — Plemium
(C) Premium (D) None of the above
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85,

86.

87,
88.

89

90.

oL

Which of the following describes the relationship between systematic risk and return?

(A) Arbitrage Pricing Theory - (B) Capital Assets Pricing Model :
© Halry Markowg Portfol;o Theozy ) Cap1tal Malket Lme SRR
Recelvables Management deals with o AR
(A) Receipts of raw materials . = -(B) Debtms collection - .
() Creditors Management A (D) Inventory Management o
* Which of the follo_wmg rs 1e1ated to Recezvables Management‘? e s
(A) Cash Budget -~ S (B)Economic Order Quantlty
(C) Ageing schedu]e '_ = B S : =~ (DY All ofthe above ' :
_ Secondary Ma;ket in India is 1egulated by ' ' ' '
(A) Reserve Bank of India (B Securmes and Exchange Board of Indla
(C) Mmlstny of Finance - . M D) FOI’\Vﬂld Malket Commlss;on -
o Whlch funds do not have a fixed date of iedemptlon _ A '
“(A) Open ended funds * R :. (B) Close ended funds
(©) D1ve151ﬁed funds Ry ) Both A and B
in Indla, NIFT Y and SENSEX are calculated on the basss of _
“(A) Market Capitalization =~ (B) Paid up Capital L
(C) Free-float Capltahzatnon ':_ = - .' (D) Aut]mtued Sha1e Capltal S
In Futmes trading, the margm 1s payable to the broker by _ ' o
o '(A) Buyerof Futures .~ . - (B) Sellers of Futmes '
o (C) None of (A) and (B) RHSTE (D) Both of (A) and (B)

o

93.

T

95.

96,

97.

98.

99.

160.

A contract which g1ves the holdel a rlght fo buy a pamcuial asset at a partacular rate on
- or before a specified date is known as
(A) Eu10pean Optmn L d(B) Sttaddle (C) Ameucan Optxon _ (D)___S_tr_an_g e

In India, denvattves in 1nte1est 1ates are 1egulated by

*(A) Securities and Evchange Boald of Ind1a (B) Forward Malket Comm;ssmn _

_ (C) Reserve Bank oflndla S (D) Mnnst;y omeance :

: The mammum loss ofa ca]l optzon hold_el IS equal to o L AR

T (A) Stuke Spot Price ~ (B) Spot Price - (C) P;emnun S _(D) S_Q__‘l‘ Premium
The maximum loss ofa put option wntet is equal to ol . R
(A) Strike Price P1e1n1u1n N - (B) Strike Price "~ v
<) Spot Price oo : - (D) Strike Puce plus plemium

Intrinsic Value ofa 'out of money call optlon is equal to

_ (A) P;ermum (B) Zew _ (C) Spot P_;:ce ey s :_(D) Strike_Price o

Stock i)eta measures

_(A) EPS 5- (B) Debt Equnty Ratlo - (C) D1v1dend SR | )Stock Volanhty

How the increase in volatlhty in asset pnce, will affect the value of the optlon‘) -
(A) Increase the value (B) Deexease the value (C) May not af"fect (D) Any of the above

Holder of European put cptlon can .

(A) Sell the asset on or before expiry :' B _ :_;_ _ '(B_) Sell the a_s_se_t _on or_after _expiry
(C) Sell the asset on expny only RSN ) Sel_l_ _the_as_s_et befo__re ex_piry only
De01s1on tree appnoa_c__h 15 _u_sed__m L - L R

(A) Proposals with longer life .~~~ ®) Sequent:al demsrons

(C) Independent Cash flows . _ (D) Accept-Reject Ploposal
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Answer Key 17.01.2015 (E) DGM (Finance & Accounts)

Ans.

76

77

78

79

80
81

82

83
34

85

86

88

89

90
.91

93
94

95

96
97

98
99
100

Ans

o

51

52 .

53
54

55

56
57
58
59

60
61

62
63

'_64
65
267

68

69
70

71

72

73

q4
15

Ans, .

e

27

28
29
30
k}

32
33

34
35

36
37
38

39
40

41
Y

5

44

45
46

47

48
49

50 -

Ans

10
11
A2
13
‘14

15

17
18
19

20

21

22
23

24
25




